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eBms (guddw) / sFmdad (CwensgBsw) / Music (Western) X

( acBe gudlupsdund/ Note :

(i) Bag © ydmbeEd BEyo; svusis.
a16060T efleTEsEnbEGd almL HHms.:
Answer all questions.

(i) 1-40 e gd»OE (1), (2).(3), (4) BEnuiDEs BIE ewi Dt orgesm end B850 enmits ouim.
1060 40 cuenpuwisiten @eulamem ellamallgun (1), (2),(3),(4) o aemefiLuulL efemLssilsd Fflwmang
SIOGE! 1D60 QUIGHSITEIH a1 Bhse &OHD i slaLaws asflabsus.

From each of the questions 1 to 40, pick one of the alternatives (1), (2), (3), (4) which you consider
is correct or most appropriate,

(iii) @30 wwewm BEno vuned 84 0 gdoiw Wt & 418 ©d eneds? 8 enid o B8nelt el wretm
20w e (X) cuvs ewigsim.
2 106@ anpRsLULBeien el SEnelsy gabang ofomase o fus et Mseflsd o 108
sl ullehr evdasHims 955 alLsHuentsr ysiemgenwu (X) B6Gs.
Mark a cross (X) on the number corresponding to your choice in the answer sheet provided.

(iv) @ 88n0 vped But & ¢if eend coeed ¢ meSEed oy,
eflenLgareflen UBussHSed Sl Gsien BBy Sinfiejpisshameanub SaRITs ardlbs Siaubapl
dsmbmis.

L Further instructions are given on the back of the answer sheet. Follow them carefully.

1. @@z 0888 exm®ulsid) 088 8denlDdud u®im Dles’ vwy wewst T8l o ¢7
Ganwsl efflell QambuasHil el HECmFsnse gHeIe Slimoss UsameaemsubpeT eg?
Which of the following is the corresponding compound time signature of common time?

N = ® & ® X @

2. c®® &l Om edyber 8600 ge308eds cRend (*) voBsl euls gy ecddd e®imd ¢?
@b Uty Qe ISP QEUNSHE Sevifid (x) SILWISSIGE BLCaatigus, &6 syuLL Bsien
Qyerviigsd sigIeuT@D?
Which rests should be inserted below the asterisk () to complete this bar?

@ 3§t @ §79

3. €O0um0 vy ewies Beovss qened Dfes’ e ¢?
oy SABGL e uwsuBSSULGL GLip Semmed sl gbar LUUGag wig? J
What is indicated by a dot after a note?
(1) Play the note smoothly
(2) Play the note with an accent
(3) Play the note adding half its value to its length
(4) Play the note detached
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4. 2 g8 800 grinded @uidlbesl Om svn wgws’ IO grecs! o ¢? + 5 —
UsiisumeusreuBguei HIUULL eveuy BeiGreusde BGauasn @eim eigi? ( r— |
Which of the following is an inversion of the given interval? ¢

(1) Minor 7 (2) Major 2™ (3) Major 7™ {4 Minor 2™

5. emsiemiDzid 600 guinces Dfer’ v wgws EDillsl @ ¢?
Uereumesanaupmist Qanei@arieis eabsuy SeiGreausd 61g:?
Which of the following is the concordant interval?

6. Do A® g0 eedediie Bux Bed ¢?
Db @bei A® @eiulsd eigpeen QafGynaisst o _sianer?
How many semitones are there between D® and A® ?
(1) 4 Semitones (2) 6 Semitones (3) 5 Semitones (4) 7 Semitones

7. G o858 ecx30 o®dced edidhs dm sun tqusl LSOO n® ¢?
G ooweflsst fBGsuppisy Guogefled o siien Gyrefld Usieumd adsufRIBEHST 6157
Which of the following notes is the Tonic of the relative major of G minor?
(1) B flat (2) B natural (3) D natural 4) A flat

8. G wbe @8mded B 8desidde Bum D08 O wwm sl T greds’ B®: ¢?
G ogrjt1 eowefler & HeGassamy eapid sflwren ey sieugmeusreubstt 617
Which of the following is the correct way of writing the key signature of G sharp minor?

o el o ] o T e 2

9. ©0e®nsd & Ade® ecw 83 viFes vwy wgws? I greds’ R dexicwn ¢
Ueisupaumabpsi abs au8sailsd FUGLMASH s A Nl Sieniow (PIQUD
Which of the following scales will have A flat as its Subdominant?
(1) E® major (2) C minor (3) B® Major 4) D Minor

10. ouvo cuFedn DosiBewnd ¢ Berds vamm Sa ¢?
Ueisupd aursdwsaed sihbsemen Hausdmsi 2 emB?
How many syllables are there in the following sentence?
“How much is the doggie in the window”
(1) 12 syllables (2) 11 syllables (3) 10 syllables (4) 9 syllables

11. ewg eddezs emI® esien RO ¢?
Quirgl eoaugh Beveonsd SHCLeED 618)?
Which cadence does not have a note in common?
(1) Perfect (2) Plagal (3) Imperfect (4) Interrupted

12. D c®dded decoc edsinn egm ewen ol €80 e@umdn ¢?
D Guggy B UIBamamed &8Lsiiord @ponels LWELGHESID Cued abaugmssT asn6?
What are the Bass notes for the Plagal Cadence in D major?
() A-D 2) G-D 3 A-B 4 D-cCf

13. »ewien eoalumd ervsn el Dime nier! vsum tgwsd JDI8s3 @ ¢?
Usiumaisiaibpist somadgeauone wapulsh ur LuGags Sisbag Basselubag as?
Which of the following is sung or played in an artistic manner? '

(1) Harmonic Minor Scale (2) Whole Tone Scale
(3) Bhupali Raga (4) Melodic Minor Scale
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14, 2 18 300w, B e8dded d88wsid On we v Weocs O swn egwzd SOilsd @t ¢? o
SIoulL evarsbdsy B Cugmfler sufywean Bomer sib@os Useumd Sbsmeisbsenst 6g? %
Which of the following clefs would make the given note the Submediant of B major?

(1) Treble Clef (2) Alto Clef (3) Tenor Clef (4) Bass Clef

15. “©BewidnmiE emi®” om ocw ¢ m8siBu viden vwn wiwsd I8 @ ¢?
Ueteumeusmeumpmien e1& “eluiBamgsesd Gumd” Sisapd opfiwulLGAns?
Which of the following is also known as “Episodical form™?

(1) Variation form (2) Rondo form
(3) Ternary form (4) Binary form

16. ‘eeewsigs’ n0» dbved wmaBwe ¢?
‘BoonCaseiidiflel’ eidliLE) ahG oUenHEWTENGT
Which type of a work is ‘Lohengrin’?
(1) Oratorio (2) Symphony (3) Opera (4) Overture

17. egienBd B8 ng miBuld dsles’ vun wgws? ) gredst @ ¢?
Ueisu@enanauppush o1g LGynBaneiisey Bemed oibaiinLg)?
Which of the following is a composition by Prokofiev?
(1) Rite of Spring (2) Rhapsody in Blue
(3) Folk dances for piano (4) Peter and the Wolf

18, v eens Bdordsiens’ 20 D B8uded By Juims Hfn w.Bogws YT ¢?
deteud Qens yéGeafsepst 20 b pibpreieL s Csibs Ufissralu Boms bGaiseEnel @)

wiry?
Which of the following composers is a 20% century British composer?
(1) Gershwin (2) Berlioz (3) Britten (4) Bartok

19. F 0808 ivb vwn egwsl J0i8s @mie?
eteugpsusseumpien F enwerfler ivb aig?
Which of the following is ivb in F minor?

o 9=y
==

20. oo & @b 9ol ewe® greds’ emageon O O ¢
&R sruu@sien @HsTel ushsEhsT QUTGSSWHB UsD g7
Which of the following is the odd one out of the given Italian terms?
(1) Adagio (2) Dolce
(3) Pin Mosso (4) Prestissimo

21. ‘Codstetn’ e w®im euld®n ecrlent vwn wewst D gnedsl BB ¢°?
Usheupausisupmist ag ‘fppratLr Sbe 956 s566mHH SGIDEH?
Which of the following gives the same meaning as ‘Ritardando’?
(1) Rallentando (2) Largo (3) Calando (4) Lento

22. “My favourite Things” Boe gines Dries? e®DiBs! 9O» w.dn maBed ¢7?
“My favourite Things” ergnib UTL6D 61 Bens susnaulsd LrL iU Cg?
In which of the musicals is the song “My favourite Things” included?
(1) Singing Nun (2) My Fair Lady
(3) Wizard of Oz (4) Sound of Music

. A
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23. B® g0wdessl vun cuEedn w.dn defhn dimw B8ed & grenn deids edd greds @ ¢?
BY CpibGuiilsd sy Beiten @eneliCuuiimu Beovadenburg Udaigasiebmst g Cal@b?
Which of the following would be heard when the given extract is played on a trumpet in B®?

24. “RagTime Music” Bu® ¢ 08 gl cOmws ®YTies ¢?
“Rag Time Music” @en sl yfsHeLmy sigpdsreny wrj?
Who was the most popular writer of “Rag Time Music™?
(1) Duke Ellington (2) George Gershwin (3) Scott Joplin (4) Louis Armstrong

25. 2858 emi® derd ©vgfon e G e®ddewys’ giclny mixlexs »B, ©8 emWn gdwmm SEOO 8d
e@mpens gedfur wosiest s B ezt ¢?

euefl Gunb e w&eonh uGH G Bugflsd SwUEE0als SNUGSH WBDICUDRINSDHE BhassT CuTSeITEs
a@IUTTESGID & 61817

In Binary form if the first section begins in G Major, in which key would you normally expect the section

to end?
(1) G minor (2) D major (3) E major (4) E minor

26. <bBedes’ eni® Yoz’ By C1Red vwy ©cwsl i greds’ O ¢?
Seauply yissmsenst ag CaflGusd Gurjid @sv epsiUL Gsitengl?
Which of the following compositions is written in Variation form?

(1) Minuetin G - L.V, Beethoven

(2) Harmonious Black Smith - G.F. Handel
(3) Scenes from Childhood - R. Schuman
(4) Prelude No 1- 1.S. Bach

27, @00 gude e 1R 0 getise nisles’ P B de ¢?
@bs Liwl Beends semi@Glolusng pRisst asjurfégn & as?
In which key would you expect to find this triad?

(1) D minor (2) G minor (3) C minor (4) A minor

28, 018 Jubum vEl edbemed 8 emid S 83w wide vy Bigws! R dimkm ¢?
Grueflds Cgwil. genflst woorag @abasalar & Cpil sramliLBas UeaumaaabpeT abs @ gHaled

SUGI0?
Which of the following places would the key note of the first inversion of the Tonic triad appear?
(1) Top (2) Middie (3) Bottom (4) Anywhere

29, U0 edenitided Digme vg OB DG yedmdn Bum egwsl JD8sS o ¢?
Ueteumio Qe BLaaisenen g OLabasn CQréGsrfled @amséssHsass?
Which of the following notation can be played on a Descant Recorder?

(l) '#I. ".’. 7 l.=l # ) | (2)
egf B £
5 EEEEa @)

J
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30. 5o GvenS g emby SO0 vy wwes § greds’ PO ¢?
Usreumauensuppisit Lumell BITeEsHH6 SLMETS aeugn 61g7
Which of the following notes are not found in Bhupali Raga?
(1) IV and VII (2) Vand VII (3) HandV (4) TV and VI

31. oo wgwsd D8y O¥HBnD gudl Dilers @ ¢?
Usiaumeiaraubish SIUUL@slien USHGEDSE GUIGSSION auetiembgis JBGas a7
Which of the following belongs to a Vannama?

(1) Premayen manaranjitha (2) Ale Benda Maage Ramyawan

(3) Gamheera thedath Konstha thinupure (4) Sath weth mahath Adara

32. Booe & 0800, 85t wdme 1 DOBC wBme Byed Oz g O B0 o Luslns Daewsd
B8ox § @1oBm oo swn esewsl gueesd »Post ¢?
fusen Aynfw @eovs, afbaevsialiu Boe, Cumnstsu Homs pPALABODBS BHEH JbsRGIHD
gofmmss iabss fHwre smdsn Cubp G@eohomsmus Csihs Bos usGH) UaeumEamms
wimriy?
Which of the following is an internationally recognized Sri Lankan composer who combined Sinhala folk
tunes, Hindusthani music and western music in his compositions?

(1) Ananda Samarakoon (2) Sunil Shantha

(3) Dr. Premasiri Kemadasa (4) Mohideen Baig

33, edisl ¢ 8D B8 O niBen dlest vws wgwss O greds RO ¢?
BGegren 12 HFevsurellemsd Subst L BTSH Uesumeusmeubpiet s1%?
Which of the following nurthi was written by John de Silva?
(1) Othello (2) Pandukabhaya (3) Ramayanaya (@) Vidura

34. & oz & B Buwo griled n@m 8 des &2
@somens Gl Beib apsiiul Geen & agi?
In which key is the National Anthem of Sri Lanka written?
(1) C Major (2) E flat Major (3) G Major (4) B flat Major

35. 8008 dentddidn 00 ©:818mon embded vvn wewyl SO185 O ol wIediw ¢?
HivBurell gmevgrellsl PIbsr Smshaa]) DieberssH Uaeumd Bmsssmalsensl HauTeGH?
Which of the following instruments is not a regular member of the Symphony Orchestra?

(1) Piccolo (2) Oboe (3) Viola (4) Saxophone

36. @2 Bemec] oo Middle C (M.C.) g mgewss @20 e o1 00w s ¢?
pissit I&srGsoralsd Middle C (M.C) ul @eonssGnturs 2 Bisense GsLGh shsaufn wig?
If you play Middle C (M.C.) on the Piccolo which note would you hear?

.‘G .
O =—— M —— RO =— B =
-

37. 8008 Bemeiddm 082 0l e BT s GuNIied D8 D BEedg Bu widersS vwm egwst
S greds’ o ¢?
AibCunefl gaedyraldl shds o usTanhssid BTaig Uflaaepd Guigams SisEULGD afles QUMG
Usireugpeueneuiayeir 617
Which of the following would be the sitting order in general of the four sections of instruments of a Symphony
Orchestra?

(1) Strings, Woodwind, Percussion, Brass wind

(2) Strings, Brass wind, Woodwind, Percussion

(3) Strings, Brass wind, Percussion, Woodwind

(4) Strings, Woodwind, Brass wind, Percussion

L J
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38. € 1B edDded pfedumd Bedn OB D10 v eED BT yFedsies’ wun twgwsl IO greds’ OGRS ¢?
SILULL evarsds gn Cedbsalibe gbuBhb siPiassiler sfiurar asnierlisams Udiumauaainnist sgs?
Which of the following is the correct number of vibrations per second of the given note? b —7

(1) 128Hz (2) 256 Hz (3) 440Hz (4) 880 Hz s

39. Boudwe B e8Gee3 e 8O qued Syt wim BOCE BEedg tun wgwyl dOidx @ ¢?
eisumaseubmst a1 Snopreny gule avfitidls SPohs Cwsors fush Geuud sflwrs (pepLTGD?
Which of the following is the correct order of tunning the open strings from lowest to the highest on a
guitar?

(1) ADEGBE (2) DGEABE (3) EDAGBE 4 EADGBE

40. oum 29530 O DILHB WO BNSE 9O Lwn wgws SOz} O ¢?
iUl DVRBIISMS Bmed@io Ffwrer (pep LaaumsuanabpieT g7
Which of the following is the correct way of the playing the following ornament?

3
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